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1. BN

W LCRMX R AENEH S E R ESH (RERX (D) , RERA
£ (Q), UM (), EMPHRHEHME) WEM ENSBHEKX, BER
K BE, ZRITBMERRRERNERBENE, XEKREFE
BAETLL £ AUTOLCR X TEHENEHK, BEREME, BES
IRBIHIEE, FAEEERNERFMPAE, EREHIERBHENIE
SZRBFMEFENEIAZ: 100Hz/120Hz/1KHZz/10KHZz/100KHzZ,

1. $1E
« XWE LCD BRE
« B30 LCR &g, ME
o TiEEREL / HEAER
e Ls/Lp/Cs/Cp 1 D/Q/B/ESR £
« XISERBMEER, = 200.000-200.0MQ
o EANTHEMIRXSAZ: 100Hz/120Hz/1KHz/10KHzZ/100KHZ
o MARFRESHK: 0.6Mvrms
« MWEEE: (FH F=1KHz)
L: 200.00pH~2000.0H
C: 2000.0pF~2.000mF
R: 20.000Q~200.0MQ
o Z R RN EE
s TRESL, BEBERHER
« FESHER:
DCR: EHifEE M
Ls: EBEXER R
Lp: FEXEBRE
Cs: BEEBR
Cp: HEBA
Rs: SBEXER[H
Rp: FHEXEH
s RB{EHER
0: 1A
« ESR: S0 HELHMA
D: IRFEFER
Q: mEAREZR




BEER

P =

« ERIEORTIERE,

« 7£ OPEN/SHORT B IEf 2 EBHITIEIRIE.

cMMRFBE, HIRERNDRLDTABIPFEEELNREE.
 RESHERESHENEH,
 BEERETHERN10%-100%, B3 L CENERERESEE,
s —RIERBREHBEL,

B ¥ ETHRE  18°C ~28°C

MR 42 =100Hz/120Hz

L SRE | ERBEE | REERBEE | NEEN
20.000mH | TuH 1.5%+10d | 1.5%+50d EBEX
200.00mH | 0.01TmH | 1.4%=15d | 1.4%=%50d B
2000.0mH | 0.1mH | 1.5%=15d | 1.5%50d EBEX
20.000H | 1mH 1.6%+10d | 1.6%+50d
200.00H | 0.01H 1.3%+10d | 1.3%+50d FEX
2000.0H | 0.1H 2.0%+15d | 2.0%+50d FEX
20.000kH | 0.001kH | 2.5%=15d | 2.5%=0d FHEX

ML =1KHz

B PBE | AREEE| REEREEE | NEEN
2000.0uH | 0.1uH 1.3%=10d | 1.3%=50d E2)iES
20.000mH | TuH 1.2%+10d | 1.2%=+50d SBEX
200.00mH | 0.0TmH | 1.2%=10d | 1.2%=50d E2)iES
2000.0mH | 0.1mH | 1.5%%15d | 1.5%=50d
20.000H | 1TmH 1.5%=15d | 1.5%=50d FEEX
200.00H | 0.0TH 2.0%=10d | 2.0%=50d FEEE

2000.0H | 0.H 2.5%x15d | 2.5%=50d FEx




MK 3= =10KHz

=12 PME | ARBEE | REEZBEE | 1=EEX
200.00uH | 0.01uH | 1.8%=10d | 1.8%z=50d EE=):E3
2000.0uH | 0.1uH 1.5%+10d | 1.5%50d EE=):E3
20.000mH | TuH 1.2%=10d | 1.2%=50d EE=):E3
200.00mH | 0.01mH | 1.5%+15d | 1.5%z50d
2000.0mH | 0.1mH | 2.0%10d | 2.0%=50d B
20.000H | 1TmH 2.5%15d | 2.5%=50d B
3L $M=E =100KHz

=2 SBE | ARBEE | RERAZRBEE| VEER
20.000uH | 0.001uH | 2.5%%10d | 2.5%+50d EBEX
200.00uH | 0.0TuH | 1.5%=10d | 1.5%=50d BB
2000.0uH | 0.1uH 1.3%=15d | 1.3%=50d EBEX
20.000mH | TuH 2.0%=15d | 2.0%+50d FrEX
200.00mH | 0.01mH | 2.5%=15d | 2.5%=50d FHEX
BE HETHBEE: 18°C~28°C

M3 $Z =100Hz/120Hz

=72 SRR HEREE | REAZBEE | VEER
20.000nF | 1pF 2.5%=10d | 2.5%+50d FFEX
200.00nF | 0.01nF | 1.2%+10d | 1.2%=50d
2000.0nF | 0.1nF 0.9%+10d | 0.9%z50d
20.000uF | 1nF 1.0%+15d | 1.0%=50d BB
200.00uF | 0.0TuF | 1.2%=+10d | 1.2%=+50d )i
2000.0uF | 0.1uF 2.5%=10d | 2.5%+50d BB
20.00mF | 0.01mF | 5.0%%10d | 5.0%%50d BB




ML MR =1KHz

=2 SHIRE HEBEE | REERBEE | NESERX
2000.0pF | 0.1pF 3.5%=15d | 3.5%*50d FEE
20.000nF | 1pF 1.0%+10d | 1.0%+50d
200.00nF | 0.01nF | 0.9%+10d | 0.9%%50d
2000.0nF | 0.1nF 1.0%+10d | 1.0%+50d BB X
20.000uF | 1nF 1.2%=+15d | 1.2%=50d EBEX
200.00uF | 0.0TuF | 2.5%+10d | 2.5%=50d BB R
2000uF | 1uF 4%+20d 4%+50d EBEX

i A= =10KHz

=2 U HEREE | REERBEE | VEER
200.00pF | 0.01pF | 3.0%=8d 3.0%=50d FrEX
2000.0pF | 0.1pF 1.0%=+10d 1.0%+50d ---
20.000nF | 1pF 0.9%+10d | 0.9%=+50d ---
200.00nF | 0.01nF | 0.8%=10d | 0.8%=50d EBEX
2000.0nF | 0.1nF 1.0%=8d 1.0%+50d BB EX
20.000uF | 1nF 2.0%=8d 2.0%+50d )i
200.0uF | 0.1uF 4.5%15d | 4.5%=50d BB EX

M 872 =100KHz

=t SHE | HEBHE | REARBEE | VEEX
200.00pF | 0.01pF | 2.5%+15d | 2.5%=50d FEE
2000.0pF | 0.1pF 1.0%=8d 1.0%+50d FEX
20.000nF | 1pF 1.8%=8d 1.8%=50d FEE
200.00nF | 0.01nF | 1.5%+10d | 1.5%=50d EBEX
2000.0nF | 0.1nF 2.5%+15d | 2.5%+50d 2059




R HETHIRE: 18°C ~28°C
MiX 4% =100Hz/120Hz

=2 SRR HIEEEE MmEENX
200.00Q 0.01Q 1.2%10d
2.0000k0 0.1Q 0.8%=5d
20.000kQ 10 0.9%=5d
200.00kQ 0.01kQ 0.7%#3d
2.0000MQ 0.1kQ 1.0%=5d
20.000MQ 1kQ 2.2%=10d
200.0MQ 0.I1MQ 2.5%+10d —
ML MR =1KHz
B2 SRR AR EE MEEN
20.000Q 1mQ 1.2%=10d
200.00Q 0.010 0.8%z5d
2.0000kQ 010 0.8%z3d
20.000k0 10 0.7%=3d
200.00kQ 0.01kQ 1.0%=5d
2.0000MQ 0.1kQ 1.5%=10d
20.000MQ 1kQ 1.8%=10d
200.0MQ 0.1MQ 6.0%=50d —
M 8= =10KHz
=2 SHURE RS EE mEEN
20.000Q 1mQ 1.5%+10d
200.00Q 0.01Q 0.8%=10d
2.0000kQ 010 0.9%x5d
20.000k0 10 0.8%=3d
200.00kQ 0.01kQ 1.0%=5d
2.0000MQ 0.7kQ 2.5%z=10d
20.00MQ 0.01MQ 2.8%+10d




ML MK =100KHz

=8 = HEFEE | USSR
20.0000 1mQ 2.3%=10d
200.00Q 0.010 1.5%:5d
2.0000kQ 010 0.8%20d
20.000kQ 10 0.8%=20d
200.00kQ 0.01kQ 1.5%=10d
2.000MQ 1kQ 2.5%+30d

BB HETHRE: 18°C ~28°C
M 3M= =100Hz/120Hz/1KHZz/10KHz/100KHZ

=8 U HIEBEE S
200.000 +0.01Q 1.8%=10d

2.0000kQ +0.10 0.6%x20d

20.000kQ +1Q 0.6%=10d ---

200.00kQ +0.01kQ 0.5%=+3d ---

2.0000MQ +0.1kQ 1.5%=+5d ---

20.000MQ +1kQ) 2.0%=5d ---

200.0MQ +0.1MQ 2.5%=+5d —

R#EE (D) BE HETHERE: 18°C~28°C

Freq./z 10.1-1Q [1-100Q 180k0 1?40(;( ;glMo igg/lMQ
100/120Hz | £0.030 |+0.010 [%0.009 [+0.010 [0.020 [z0.040
1kHz +0.030 [+0.010 |+0.009 |[+0.010 [%0.020 |+0.090
10kHz +0.030 [20.010 |+0.009 |%0.009 |%0.010 [=%0.040
100kHz £0.040 [%0.030 |+0.010 [%0.010 [=%0.020 [=%0.040
18 () HBE HETHRE: 18°C~28°C

Freq./Z | 01-1Q]| 1-10Q | 10-100kQ ]&0(';’ ;g’:;m ;g(l\)/lM_Q
100/120Hz| +0.65° | +0.36° | +0.23° +0.45° | +0.65° | +1.35°
1kHz +0.65° | +0.36° | +0.23° +0.45° | +0.65° | +3.63°
10kHz +0.65° | +0.36° | +0.23° +0.45° | +0.65° | N/A
100kHz +1.27° | +0.65° | +0.49° +0.65° | +1.35°




